Gleichungen 1

Lose die folgenden Gleichungen auf einem karierten Blatt.
Wende das Gleichsetzungsverfahren an!

1.) x=2y-11

X =6y —-43
2.) X =9y -71
X = 5y - 39
3.) y =2Xx +1
y =7x-19
4.) 3x+vy =21
8X +y =46
5.)) x+3y=7
X+ 5y=9
6.) S5x+vy =29
Ox +y =45

7.) -8x-y=-48

8.) -x-y=-11
-X + 6y = 24

9.) 6Xx-Yy=-3
/7X-y=-16
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Gleichungen 1

Lésungen
(1) x=5
y=8
(2) x=1
y=8
(3) x=4
y=9
(4) x=5
y=6
(5) x=4
y =1
6) x=4
y=9
(7) x=7
y = -8
(8) x=6
y=5
(9) x=1
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Gleichungen II

Lose die folgenden Gleichungen auf einem karierten Blatt.
Wende das Gleichsetzungsverfahren an!

1. x=8y-22
X =4y -10

2. y=8x-31
y =3x-11

3. y=7x-54
y =9x -72

4, X +y =18
8x +y = 81

5. X+ 6y =32
X+y =12

6. 9x +y=22
7Xx +y =18

/. 8x -y =23

-9% -y =-11
8. Ox -y = -51

-4x -y = 27
9. -X -y =-6

-X + 8y = 75
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Gleichungen II

Lose die folgenden Gleichungen auf einem karierten Blatt.
Wende das Gleichsetzungsverfahren an!

Losungen
1) X =2 y =3
2) XxX=4 y=1
3) X=9 y=9
4y X =9 y =9
50 X =28 y =4
6) X =2 y =4
7) X =2 y = -7
8) X = -6 y =-3
9) X = -3 y=9
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Gleichungen III

Lose die folgenden Gleichungen auf einem karierten Blatt.
Wende das Gleichsetzungsverfahren an!

1.) x=7y - 40

X =2y - 10
2.) y=3x- 17
y =9x - 53
3.) X=4y - 32
X =2y - 14
4,) x+ y= 13
3X + y= 27
5.) Ox + y = 53
3X + = 23
6.) 2X + y = 23
8 + y= 71
7.) -X- y-= 2
4x - y = 22
8.) -3x- y=-29
5x - y = 43

9.) -x+ 8y = 69
-X+ 2y = 15
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Gleichungen III

Lose die folgenden Gleichungen auf einem karierten Blatt.
Wende das Gleichsetzungsverfahren an!

Losungen
1.) x=2 y =6
2.) X=6 y=1
3.) x=4 y =9
4.) x=7 y =6
5.) x=5 y =8
6.) x=8 y =7
7.) x=4 y = -6
8.) x=09 y =2
9.) x=3 y =9
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